ERLOWEAEY/N—T73R =
B B - 506408 5201 BAFHY b —EER
IIEHL K % & £ § [ii] GR | HDCP | NET kel
B TE =X 38 38 4.8 | 33.2
#E |FK A 43 43 8.4 | 34.6
3 |BEx XB 40 40 4.8 | 35.2
4 |HP Bk 39 39 3.6 | 35.4
5 b & 39 39 3.6 | 35.4
6 |dbi = 45 45 9.6 | 35.4
1 |BEF BX 47 47 | 10.8 | 36.2
8 |F&E X 41 41 4.8 | 36.2
9 HE @ 45 45 8.4 | 36.6
10 &% & 45 45 8.4 | 36.6
1 |l &= 50 50 | 13.2 | 36.8
12 |pf E— 44 44 1.2 | 36.8
13 |&HA Bsh 50 50 | 13.2 | 36.8
14 [FAlx 28 38 38 1.2 | 36.8
15 gk & 44 44 1.2 | 36.8
16 |thA IEHE 44 44 7.2 | 36.8
17 /R A 44 44 1.2 | 36.8
18 %A =& 49 49 | 12.0 | 37.0
19 B8 B 42 42 4.8 | 31.2
20 |HH = 47 47 9.6 | 37.4
21 | =— 53 53 | 15.6 | 37.4
22 |t8H =E 41 41 3.6 | 37.4
23 |&0 wWBF 53 53 | 15.6 | 37.4
24 |\ kNl E— 46 46 8.4 | 37.6
25 |FHR IEF 46 46 8.4 | 37.6
26wt B— 52 52 | 14.4 | 31.6
21 | RK {E5— 45 45 7.2 | 37.8
28 |luAX  FEA 51 51 | 13.2 | 31.8
29 kIR & 50 50 | 12.0 | 38.0
0 =l % 43 43 4.8 | 38.2
3N AR =—1 49 49 | 10.8 | 38.2
32 |E EHKE 54 54 | 15.6 | 38.4
33 |#XHE T 54 54 | 15.6 | 38.4
34 |IUF #X 48 48 9.6 | 38.4
35 |tEH FHK 54 54 | 15.6 | 38.4
36 |lUE % 54 54 | 15.6 | 38.4
37 (&0 H= 42 42 3.6 | 38.4
38 |FiE AR 46 46 7.2 | 38.8
39 |k BER 51 51 | 12.0 | 39.0
40 4Rk R 51 51 | 12.0 | 39.0

BEAER WARUT
fELA-N: B:2-3-4-5-6-8 #:1-2-3-4-6-8
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EKLWLWBSARY/N—T7aR 2E
B B - 250064208 5 20E BATH Y b — {5
[[=tia K % T B ) =2 [rii) GR HDCP NET e
A1 | ghE 51 51 12.0 39.0
42 Mk B2 49 49 9.6 39.4
43 IR B 43 43 3.6 39.4
4 |5 T 46 46 6.0 40.0
45 |EHHE FiA 46 46 6.0 40.0
46 |F FH 45 45 4.8 40.2
47 g 45 45 4.8 40.2
48 |ILK BEE 62 62 21.6 40.4
49 LA NE— 51 51 9.6 41.4
50 |[LE REF 56 56 14.4 | 41.6
51 |E8& —ER 55 55 13.2 41.8
52 |)kE 75— 48 48 6.0 42.0
53 |F WF 59 59 16.8 42.2
54 |kEH BB 62 62 19.2 42.8
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